Question Number : 26 Question Id : 40503611181 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Match the following :

(i) Foam (@) smoke
(i) Gel (b) cell fluid
(iii) Aerosol (c) jellies
(iv) Emulsion (d) rubber
(e) froth
(f) milk

Options :
40503640606. (1)-(e), (i1)-(c), (11)-(a), (iv)-(f)

40503640607, @) (i)-(c). (ii)-(e), (iv)-(d)
40503640608. (D)-(d), (ii)-(b), (ii)-(e), (iv)-(f)

40503640609. (1)-(d), (w)-(b), (ui)-(a), (v)-(e)

Question Number : 26 Question Id : 40503611181 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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(i wm () T (y)
(i) == (b) HATA
(i) U () e
(iv) EHEEH (d) =

(e) TIA

# =9

Options :
40503640606. (9)-(e), (i)-(c), (ii)-(a), (iv)-(f)

40503640607. (I-.:]-{b], (ﬁ]'(":]r (iii]'(f:']r {]:.V]-{d]
40503640608, (D-(A)- (B)-(b), (iti)-(e), (iv)-(f)

10503640609, (@) (1)-(b), (iii)-(a), (v)-(e)

Question Number : 27 Question Id : 40503611182 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1

Zn rod Curod
—ve +ve
1M - 14 ™

ZnS0, E =] CuSO,

soln, | T soln.

LCu2+|Cu =4+034V

B 2tzn= ~076V

Identify the incorrect statement from the

options below for the above cell :

Options :
IfE.. <11V, Zn dissolves at anode

40503640610. and Cu deposits at cathode

If EEKt = 1.1V, no flow of e~ or
40503640611, current occurs

If EEKt >1.1V, e  flows from Cu to
40503640612, £n

It E e 1.1 V, Zn dissolves at Zn

ex

electrode and Cu deposits at Cu
40503640613, electrode
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Question Number : 27 Question Id : 40503611182 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Cu rod
+ve
] ™
CuSQO,
fareraH
LCu2+|Cu = +0.34V
LG2+|zn: 076V

TR A F e e R A farai g 9
TeAd F99 =+l T899 ¢
Options :
A E__ <1.1V, fois THE W gora &
20503640610, 7 Cu e 9 {1 2l 2 |

A B = 1.1V, e~ 319a1 910 &
40503640611, e el B

A E ;> 1.1V, TS 1 J91E HW
40503640612, J Toish =1 2|
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QG S 1.1V, Zn, T soRE W
Tedl € T Cu, FIW T T o

40503640613, T €1

Question Number : 28 Question Id : 40503611183 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
For the equilibrium A B, the variation
of the rate of the forward (a) and reverse

(b) reaction with time is given by :

Options :

o

S 4

-E" \‘\__H a

= ________i.‘-'—--—I equilibrium

all_~"b

£ =T "
40503640614 G

=

g

E \HN a =

je¥] - 5 ili 1

= S i ILqulllbI‘Ile

) b

2l

o = Tj 4
40503640615, s
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o
=2 4
TalNAa
v o,
o e S .
— it _I equilibrium
= e
[+F} /""#- b
P
40503640616, e
c
i=
94\2
= T quuilibrium
2 -
5 [ h
m L — >
a4 — Time
40503640617.

Question Number : 28 Question Id : 40503611183 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

|, A B, & T, T9F % 919 379 (a) a0
IkH (b) HATAFaT =1 52 =1 9fEd 9 =+
E’RTfEﬂTﬁlﬁTﬂ:

Options :

405036400614.
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'_1"’_
@ 4| S_a e
x.,___q::’_’:::_-__. I 'H-rm
Z% .____.-'"b —
40503640615, — HRY
R
g5 4| 2
'_I HIE
_,/-"'..- b‘
40503640616. — "Hy
54 N\2 -
] =
% vk B
40503640617, — Y

Question Number : 29 Question Id : 40503611184 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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For one mole of anideal gas, which of these

staterments must be true ?

(a) U and H each depends only on

T.EIIIPEI'HT.UI'E

(b) Compressibility factor z is not equal
to1
(c) CP, m_{:‘v',. m- R
(d) dU=C,,dT for any process
Options :
40503640618, (€) and (d)

40503640619, (@ and (©)

40503640620, \*) (€)and (d)

40503640621, )7 (9 and (@)

Question Number : 29 Question Id : 40503611184 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

TF Y T F UF Hie & fau, 57w §
H HA T 1 =fey ?

(a) U @ H 9eish 91 ar9 2 el =2 2
(b) e Ui z, 1 % TR T 2
9 ConCrn=R

(d) dU=C,dT T WA =% fog
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Options :
40503640618, (€) 41 (d)

40503640619, (@) T4 (c)

b), (c) T4l (d
40503640620. ®). () (d)

40503640621, (2 (©) T (d)

Question Number : 30 Question Id : 40503611185 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The intermolecular potential energy for the
molecules A, B, C and D given below

suggests that :

Interatomic distance (pm)

0 130 100 §, 150
] S i *jE = -~
! . -
—100 Tty 7 7
—200 ——+—+——F4——
Potential ¢ a5, o = "x‘ £
Energy —300 ; L o
(k] mol =1) — 400 | —+—— 4L A-D
_soo| A=A ! A-C
— 600 A—B

Options :
40503640622, ‘A—A has the largest bond enthalpy.
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40503640623. A-B has the stiffest bond.

40503640624. A-D has the shortest bond length.

D is more electronegative than other

atoms.
40503640625.

Question Number : 30 Question Id : 40503611185 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

sl % forg sfaustos feafas o5 S A, B,
C @ D 5w = e 7 €, @ €

; SR {1 (pm)
0130 100 3, 150
: - o g
—100 A3 Fd
g K [ 1 .', ;
feufast —200 ———— E *,‘_x o -
o | —300 . C . "‘J‘ £
. i | . .
k] mol—1 Lo g ' el
E ) 00— —— AR
500 He & | A—C
—600 a0
Options :

40503640623. A-B 1 ST HeiHF Hd 2
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40503640624, * 0 H S TS T
T AT F ge J D SIS R

40503640625. = i

Question Number : 31 Question Id : 40503611186 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The region in the electromagnetic spectrum
where the Balmer series lines appear is :
Options :
40503640626, - traviolet

40503640627, Visible

40503640628, nirared

40503640629, Microwave

Question Number : 31 Question Id : 40503611186 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
ferega e Seen § 9% 4, Wl A g
1 @A ferdt €, 2

Options :

40503640626. T l
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40503640627. :

40503640628.

N

40503640629.

Question Number : 32 Question Id : 40503611187 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The ionicradii of O~ ,F~,Na* and Mg?*
are in the order :
Options :
7 : ooy P
40503640630, O~ > F7>Na®™ >Mg

Mg?* >Na* >F~ >0?
40503640631

7= = > Mo+ > "
40503640632, ¢ >Mg= >Na

2 o 02+
40503640633, £ 07 >Na™>Mg

Question Number : 32 Question Id : 40503611187 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
Qcollegeduniag
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Options :
02— > F~>Na*t >Mg?

40503640630.
40503640631, Mg>* >Na* >F~ >0?

40503640632. 02~ >F~ >Mg2* >Na*
40503640633, T >0 >Na* > Mg**

Question Number : 33 Question Id : 40503611188 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Among statements (a) - (d), the correct ones

are :

(a) Lime stone is decomposed to CaO
during the extraction of iron from its
oxides.

(b) In the extraction of silver, silver is
extracted as an anionic complex.

(c)  Nickel is purified by Mond's process.

(d) Zr and Ti are purified by Van Arkel
method.

Options :

40503640634, () () and (@) only

40503640635, (@) (b, (c) and (d)
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40503640636, \©) and (d) only

40503640637, (@) (c) and (d) only

Question Number : 33 Question Id : 40503611188 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

(a) - (d) Tl H, & FUTE

() T g TS H i #
# e R (FAe) CaO H faafea
31 S 2

(b) TaeeR & Fepdw 5, faeaw U Homa
HFd F w9 § Feehpia 2 2|

(c) Tl =1 92 959 GRS F3d ¢|

(d) Zr T Ti F 99 AHa @9 9 1S
FA L

Options :

40503640634, T (B), () T (d)

40503640635, (@) (b), () T (d)

40503640636, T () WA (d)

40503640637, 71 (a), (c) T (d)
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Question Number : 34 Question Id : 40503611189 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
On combustion of Li, Na and K in excess
of air, the major oxides formed,
respectively, are :

Options :

Li,O, Na,0 and K,0O,

40503640638. % At

Li,O, Na,O, and KQO,
40503640639. - e o

40503640640. Li,O, Na,O, and K,0O

Li,O,, Na,O, and K,O
40503640641, < ¥ 272 Kol

Question Number : 34 Question Id : 40503611189 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

9 & MY H Li, Na @1 K & 989 W
T T AESE A ¢

Options :

Li,O, Na,O a1 K.0
40503640638, = 2 ot

Li,O, Na,O, 941 KO,
40503640639. ~ it =
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40503640640, 1207 Nax0, T K,0

Li,O,, Na,O, 741 K,O
40503640641, 272 A2-2 22

Question Number : 35 Question Id : 40503611190 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

On heating, lead(II) nitrate gives a brown
gas (A). The gas (A) on cooling changes to
a colourless solid/liquid (B). (B) onheating
with NO changes to a blue solid (C). The
oxidation number of nitrogen in solid (C)
18 :

Options :

405036400642.

40503640643, T3

40503640644, T4

405036400645. =2

Question Number : 35 Question Id : 40503611190 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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ﬁg{ﬂj?@?ﬁﬂwmﬁmwﬂf{fﬁﬁﬁu
A) TR T (A) T FH W UF TRA

m;aaquqﬁaﬁﬂaam% (B), NO %

1Y TH FA T UF Al T F 29 (C) H

e Wl € | 31 (C) H ATs2raH 1 e

A

Options :

405036400642.

40503640643, T3

40503640644, T4

40503640645, 2

Question Number : 36 Question Id : 40503611191 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The elements with atomic numbers 101 and
104 belong to, respectively, :
Options :
G 11 and G 4
40503640646, — P - ancroup

40503640647, TEED0lds end Group &

40503640648, CrOuPp 6 and Actinoids
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40503640649, “xctinoids and Group 4

Question Number : 36 Question Id : 40503611191 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

e, fSreR! TET T 101 991 104 ¥,
T T ©

Options :

40503640646. SRR

40503640647, VAo AASH A1 IT 6
40503640648, 31 6 TN UFR=HEH
40503640649, TS T 4 4

Question Number : 37 Question Id : 40503611192 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The number of isomers possible for
[Pt(en)(NO),] is :

Options :

40503640650. 1

40503640651, 2
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40503640652. 3

40503640653, 4

Question Number : 37 Question Id : 40503611192 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
[Pt(en)(NO,),] * fou Hvwa wam=afadi =1
T T

Options :

40503640650. 1

I3

40503640651.

40503640652.

40503640653, 4

Question Number : 38 Question Id : 40503611193 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The pair in which both the species have the
same magnetic moment (spin only) is:

Options :

7+

& : ~C1 12
40503640654, | T (H20)6l™" and [Coll,]

40503640655, L FH0)e]** and [Fe(H,0)g]*"
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40503640656, [Mn(H,0),]** and [Cr(H,0)]**

40503640657. [Co(OH)4J*~ and [Fe(NH;)g]**

Question Number : 38 Question Id : 40503611193 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
ot (form 9@ 2, 2
Options :
[Cr{HZ‘D]ﬁ]E' BEL [COCI4]2

40503640654

20503640655, LCTFLO)]>* T [Fe(H,0)o*
10503640656, IMN(FLO)1 T [Cr(H,0)1
40503640657. [Co(OH),]?~ @4 [Fe(NH;)]**

Question Number : 39 Question Id : 40503611194 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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An organic compound (A) (molecular
formula C,H,,0,) was hydrolysed with
dil. H,50, to give a carboxylic acid (B) and
an alcohol (C). ‘C’ gives white turbidity
immediately when treated with anhydrous
ZnCl, and conc. HCI. The organic
compound (A)is :

Options :

40503640658. O

40503640659. O

40503640660.

40503640661.

Question Number : 39 Question Id : 40503611194 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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TF FwEE ATE (A) (FEA CH,,0,)
&l @ H,50, &% WY SasAvated fan 1
forad Faifadiers® Ufae (B) 99 Uesreid (C)
faemn €1 v/ 9@ ZnCL, @ 9 HCAL &
1 T o T @ C UF ThE SAfaeran
T A& | FEAE FOTH (A) B

Options :

O
40503640658. O
O

40503640659. O

40503640660.

405036400661.

Question Number : 40 Question Id : 40503611195 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The IUPAC name of the fnllowing

compound is:

CHj, (ﬁ)

o

Br
Options :
3-Bromo-5-methylcyclopentanoic

40503640662, 2cid

4-Bromo-2-methylcyclopentane

40503640663, carboxylic acid

3-Bromo-5- meth}flcyc Iop entane

40503640664, cArboxylic acid

5-Bromo- 3-meth}flc§;cInpentanoic

acid
40503640665.

Question Number : 40 Question Id : 40503611195 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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e i = smEgdeET T ¥

CH, ~'|:|)
L C—OH
Br

Options :
40503640662, 3~ AT-5-H AT 2SS UfHS

4_ = \_z_xﬁ L rﬁ ﬁ
40503640663. {

3-ATH-5- AT ETATI = Il
40503640664, TS

5_&\_3_1?“;- : L xr-
40503640665.

Question Number : 41 Question Id : 40503611196 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The decreasing order of reactivity of the
following organic molecules towards
AgNO, solution is :

Cl
Cl _1.
.fl'x ."I.I \'~_\“
/—=\ “OMe
(A) (B)
CH;CHCH,4 CE I3f|:I ICH,NO,
7
Cl Cl
(C) (D)

Options :
40503640666, V) = (B)>(C) > (D)
40503640667, (B) > (A) > (C) > (D)

40503640668, )~ (B) > (D) > (C)

40503640660, (&~ (D) > (A) > (B)

Question Number : 41 Question Id : 40503611196 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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AgNO, =1d1 % Ufd 7 S st =i

AT F1 =2 F4 8 :
Cl
Cl
_l_.-"-r .\'\.‘ I_.r 1_"
—  OMe
(A) (B)
CH;_,ET‘.HCH:; CI—I3(|Z.HCH2ND2
Cl Cl
(© (D)
Options :
40503640666, V) = (B)>(C) > (D)

40503640667. (B) > (A)>(C) > (D)

40503640668, )~ (B) > (D) > (C)

40503640660, (&~ (D) > (A) > (B)

Question Number : 42 Question Id : 40503611197 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

What are the functional groups present in

the structure of maltose ?

Options :
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40503640670, One acetal and one ketal

40503640671 (One acetal and one hemiacetal

40503640672, One ketal and one hemiketal

40503640673, | WO acetals

Question Number : 42 Question Id : 40503611197 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

e F H § IR A A
TEE?

Options :

40503640670, ¢ SHIECT THT Qe dheet

40503640671, = SHIS A T wHIYIH

. =, . . o, 1-:"_‘
40503640672, T TPERR S R RRERSE

=

40503640673, F WTH=S

Question Number : 43 Question Id : 40503611198 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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[P] on treatment with Br,/FeBr, in CCl,
produced a single isomer CgH-O,Br while
heating [P] with sodalime gave toluene.
The compound [P] is :
Options :
CH,COOH

s

40503640674,

_
40503640675. T~

CH,
40503640676.

EJC!H
0)
o

40503640677. CH;

Question Number : 43 Question Id : 40503611198 Question Type : MCQ Option Shuffling : Yes Display Question
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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[P], CCl, ® Br,/FeBr, & W4 Af4sHa &
T Us Ushel gAEgal CgH-0,Br &l fean 5=
& [P] HreeEd & =Y TWH FH W2
fazm | =if [P] e
Options :

CH,COOH

b

i
L

40503640674,

-~

COOH
| CH;,

o
-
P
’/I. )
WA
R

40503640675. T

COOH

[ O

~ cH;
40503640676.

COOH

,-f’J\“
Yy

. st \I

e

40503640677, 13

Question Number : 44 Question Id : 40503611199 Question Type : MCQ Option Shuffling : Yes Display Question =~ ° Yes I
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1 gccﬂ Iegedu nias




When neopentyl alcohol is heated with an
acid, it slowly converted into an 85 : 15
mixture of alkenes A and B, respectively.
What are these alkenes ?
Options :

H;C CHj; H;C

H,C
40503640678.

1§
40503640679.

40503640680. H,C CHy
CHj
CH;_ ) ' Ehs, FHz
Vi and o
40503640681. CH; CH,

Question Number : 44 Question Id : 40503611199 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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w4 FAU=TEe Ueshleid &1 UF 30 & 919
T T AT 99 9% FE: A 991 B ekl
¥ 85: 15 fagw § -+t s« s &1 3
o 1 3 2
Options :
HyC, CHy;  H;C ;:?Hz
g "

40503640678. HaC HaC

L
40503640679.

H".;C CH3

H,C, \_/CH; : \ .

HAC P
40503640680, ~ CH,

CH;

Cl {S\A CHa, CHE
I GEIl /'— &

i
40503640681 CH; CH

Question Number : 45 Question Id : 40503611200 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following will react with
CHC, +alc. KOH?
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Options :



40503640682 Adenine and proline

40503640683, rdenine and thymine

40503640684, demine and lysine

Thymine and proline
40503640685.  °

Question Number : 45 Question Id : 40503611200 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

71 § § F1 CHCL, + tearefas KOH #
Y =Afafsran =om ?

Options :

40503640682, i1 Al AT

40503640683, ST aAl HTHT

40503640684, o1 T STETE:

40503640685, AR THT HTeAT

Sub-Section Number : 2
Sub-Section Id : 405036782
Question Shuffling Allowed : Yes

Question Number : 46 Question Id : 40503611201 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0
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The mass of ammonia in grams produced
when 2.8 kg of dinitrogen quantitatively

reacts with 1 kg of dihydrogen is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to0 5.002

Question Number : 46 Question Id : 40503611201 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

S| eTEAsersA #1 2.8 kg HIEHS &9 4
STSEEENH & 1 kg & WY SA9fRAT FLa1 &
il a1 B el STHIE 6t A\ (A H) 2o

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :
5 to 5.002

Question Number : 47 Question Id : 40503611202 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0
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At 300 K, the vapour pressure of a solution
containing 1 mole of n-hexane and 3 moles
of n-heptane is 550 mm of Hg. At the
same temperature, if one more mole of n-
heptane is added to this solution, the
vapour pressure of the solution increases
by 10 mm of Hg. What is the vapour
pressure in mm Hg of n-heptane inits pure
state ?

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText
Possible Answers :

5t05.002

Question Number : 47 Question Id : 40503611202 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

300 K W, U faerg, faad 1 96 n-gfm

qg1 3 HIA n-%ﬂ'ﬁ%, 1 91 <19 550 mm Hg

€| TH 9 W, ARG n-g2A F 1 1A F faemm

H faam 9™ q1 faaga %1 99 =4

10 mm Hg ﬁﬁi{ﬁﬂ?ﬂ%l 11-%"%?331, E?FﬁnT

oG a7@@n #, 9191 ¥4 (mm Hg ) =741 2

7

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
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Text Areas : PlainText
Possible Answers :

5t0 5.002

Question Number : 48 Question Id : 40503611203 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

If 75% of a first order reaction was

completed in 90 minutes, 60% of the same

reaction would be completed in

approximately (in minutes)
(Take : log 2=0.30; log 2.5=0.40)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to0 5.002

Question Number : 48 Question Id : 40503611203 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

Ifg UF wuy Hife = AfafEwm= =51 75%, 90
el # 90 = T @ s A #60%
T 2w fa fae 52

(qﬁ : log 2=0.30; log 2.5=0.40)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range
Text Areas : PlainText
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Possible Answers :

5t05.002

Question Number : 49 Question Id : 40503611204 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

A 20.0mL solution containing 0.2 g impure

H,0, reacts completely with 0.316 g of

KMnQO, in acid solution. The purity of

H,O, (in %) is (mol. wt. of

H,0,=34; mol wt. of KMnQO, =158)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t0 5.002

Question Number : 49 Question Id : 40503611204 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

20.0 mL faerm fod 0.2 g 31918 H,0, %,

H=Ad foer= § KMnO, % 0316 g & =19

uiaan sAfufwan @ 81 H,0, ® asd

(% ) 2

(Hzoz 1 JAHN=34; KI*»-II1D4 &l HATHL

=158)
Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
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Answers Type : Range
Text Areas : PlainText
Possible Answers :

5 to0 5.002

Question Number : 50 Question Id : 40503611205 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

The number of chiral centres present in [B]
WS = ot
S (i) CoH:MgBr
(  »—CH-C=N } O
/o (i) Hs0
CH, :

[A]

(i) CH3;MgBr

[B]
(if) H,O
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.002

Question Number : 50 Question Id : 40503611205 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0
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[B] W 3ufterd sistel U= &1 9@&A1 ©

[\ (i) C;H;MgBr
. —CH-C=N GO > [A]
e o (i) HaC
/ CH, :

(i) CH3MgBr .

[B]
(ii) H,O
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :

51t05.002
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